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/24 J With aging, body fat increases and muscle mass declines. The graph to the right shows the Percent Body Fat in Z/({

_.-'" percent body fat in a group of adult women and men as they age from 25 to 75 years. Age is LIS )
/" represented along the x-axis, and percent body fat is represented along the y-axis. State the

intervals on which the graph giving the percent body fat in women is increasing and decreasing.

b
(=]

Percent Body Fat
[
[

On what interval is the graph increasing?

) A. (45,75)
O B. (20.26)
(25.75)

é?b (25,45)

On what interval is the graph decreasing?

A. (45,75)
O B. (25,45)
O €. (25,75)
O D. (20,38)



b .

I.f' 25. ith aging, body fat increases and muscle mass declines. The graph to the right shows the Percent Body Fal in ?/4
/ percent body fat in a group of adult women and men as they age from 25 to 75 years. Age is Gl
/ represented along the x-axis, and percent body fat is represented along the y-axis. For what 5 40
age does the percent body fat in men reach a maximum? What is the percent body fat for that - .
age? B
o 30
]
5 n
& 20
25 50 75
Aga

The percent body fat in men reaches a maximum at the age of QCS years.

What is the percent body fat at the maximum?

A6 .
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26. ﬁ.lse the graph of y = f(x) to graph the function g(x) =f(x) - 1. Choose the comrect graph of g below.

y = f(x)
AY

2
v

.




( DUse the graph of y = f(x) to graph the function g(x)=f(x+4), Choose the correct graph of g below.
\ /

{4 y = H(x)

AY

i B,




28. )I Use the graph of y = f(x) to graph the function
/og(x)=f(x+2)+3.
_
y = fix)
A

.3
&
I
! )
-
£y
-]
oo}

Choose the correct graph of g below.




29.

Use the graph of y = f(x) to graph the function
g(x)=f(x+4}+4.

y =flx)
o]”

+
e
[}
&
Y
J
[X]
L] o
P :
N -
£ -4
o) =
-

Choose the correct graph of g below.
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